. =y %I = - . =
No. 1
I & - BH i & g = 2 | BREtdE | B | &
<txI>
T 13.00 13.0 13
fEAEl INRIR m3
T 8.00 8.0 8
IR INRIR m3
INR IR 2.00 2.0 2
HERE HEM AL m3
DT4t (13.00+8.00)*0.90-2.00 16.90 16.9 17
T REER EHEEEEE  L=5.0kmLLF m3
Kt =2ZAnthTHNIE 16.90 16.9 17
o hh m3
<HEELI >
TAI7 I hEHEERR 1.50%2+10.00 13.00 13.0 13
S AR U B EHIERRIE15ecmL T m
TAT7 IV EE IR 15.00 15.0 15
SR PR R IA INRIR m2
DT2t 15.00%0.05 0.75 0.8 1
OB EHEEEEE  L=17.0kmLLF m3
TAI7 bk 0.75 0.8 1
A5 m3
<RI >
£0.35m3%k 0.22%3 0.66 0.7 1 253K
B M= EE ¢ 30cm m3
£0.35m3%k 0.66 0.7 1
f&iA m3
DT4t 0.66 0.7 1
BTy E K EHEEEEK - L=10.5km m3
E£RGR) 0.66*0.8 0.53 0.5 1

R5




I & - # §H i Ui = = 2 | BB &
<@EEYMI>
H=1.5m 1.00 1.0 1
EAhEMARET £ |L=10.0m
A 1.00 1.0 1
EAIEMSET M=H=2.0m = |L=8.3m
A 1.00 1.0 1
EAEMEOSSEET  [(MEH=2.0m ®  [L=2.0m
1.00 1.0 1
IEET H=3.0m &k
<&HET >
PRAE[E - t=10.0cm & 6.50 6.5 6.5
LR FIEESRAEERAM-30) m2
HEME:t=3.0cm $HE 8.50 8.5 85
TREEEIE IR SAEERAM-30) m2
LS t=50cm W=1.4mkH 15.00 15.0 15.0
=E BAEZERMETRAIVAI) m2
<ZF®mI>
s+ 13.20 13.2 13.2
P EmER F0.20m3#% m2
AABI BT 13.20 13.2 13.2
WEETYRT 500 m 3 i m2




= F = -
= Ll X _ _ _ No.1
R R R
P/ XMEEESE | B @ | F 85 | 321 B | B mEm|FH| I B | BmEm | FH| I B
BT BT BT
0.20 0.80 0.20
0+ 0.00 0.00
1.20 0.70 2.8 0.80 0.80 3.2 0.20 0.20 0.8
+ 4.00 4.00
1.40 1.30 5.2 0.80 0.80 3.2 0.20 0.20 0.8
+ 8.00 4.00
3.60 250 5.0 0.80 0.80 1.6 0.20 0.20 0.4
+ 10.00 2.00
13.0 8.0 2.0
=i 10.00




=1 g =1 -
= Ll X ) e 1N0:2
T AR R T EEEIE ==
=1 XfEpEgE | 12 B | F B BmlMREE|FH|F B|EBE|FH E|FEFH| F B
g 8 g 8 g 8 g 8
150 0.65 0.85 1.50
0+ 0.00 0.00
1.50 1.50 6.0 0.65 0.65 26 0.85 0.85 1.50 1.50 6.0
+ 400 4.00
1.50 1.50 6.0 0.65 0.65 26 0.85 0.85 1.50 1.50 6.0
+ 8.00 4.00
1.50 1.50 3.0 0.65 0.65 1.3 0.85 0.85 1.50 1.50 3.0
+ 10.00 2.00
15.0 6.5 15.0
=i 10.00




= F = -
= Ll X No.3
EE T ETY
P/ XfEEpE | 18 B8 | T+ B8 E B B | 8 B
e 8 R 8
0.00 0.00
0+ 0.00 0.00
1.30 0.65 2.6 1.30 0.65 2.6
+ 4.00 4.00
1.50 1.40 5.6 1.50 1.40 5.6
+ 8.00 4.00
3.50 250 5.0 3.50 2.50 5.0
+ 10.00 2.00
13.2 13.2
=i 10.00




Vi AT B R LR T

H=1.5m 10 %0

T F& B =X W E
SVZR) (0.50+0.95)/2%1.50%10.0+0.50%1.00/2%10.0 SN S A
18-8-40BB

Tl e (0.50+1.50%1.044)%10.0

H ikt (0.50+0.95)/2%1.50+0.50%1.00/2

THBRERAR 9.90%4,/1000
D13 SD295A
KK ETANH— (0.500%1.044%10.0)/2.0

o 75 2.0nf (21 A TR
IKEE AT 0.70%3.0

VU ¢ 75

A B E MR T
TAE MHEH=2.0m 1 %Y

T f& i Y iy g 2
PEA P& 2.0

SR

5 Bh 2.0

b AL
a—=7 44 10.0

Gl E eSS %) 3.0




PEA B REMBE 1 R E T it E
TAH HEEH=2.0m 154 %Y
T fE =3 K HiL | ¥ & i
WA B ER R AT 1
BA 130 =
1RRET YEatEE
H=3.0m 1{HFT 240
T f& i X HAL % B g 2
EVZAR) ((0.50+0.80)/2%0.50+(1.30+2.05)/2%2.50)%0.30 1.4 /N ECR A
18-8-40BB o
Hp (0.50+0.80)/240.50+(1.30+2.05)/2%2.50+1.044%2.50%0.30 5.3
m
THBRERD 0.30%0.995%12,/1000 0.004
D13 SD295A t
27 =ML 12.0
CEr AN I




